N of reco track vs dxy(PV)

N of associated (recoToSim) tracks vs dxy(PV)

N of associated (recoToSim) looper tracks vs dxy(PV)

R ¢ 2 ¢ |-
Q [*] o o
g g g g
) F 2 g
E 8107} g
=
=1
k=]
i<} e i<}
T 3 3
o 14 o
-20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20 -20-15-10 -5 0 5 10 15 20
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
DON_original_stepZ EILIOAU efalpbloZpuU
— DOM”mkKFit_step2 Pptlto20 efalp t02£
Nof reco trackvsd ——— DOM plerCPE emplate step2 ptlto20 etalp6to2p0 vy
(%] 1%} 2] 12}
x . < X 4
[5} . [} [5] [}
8 Fororeet 8 8 g
B : g ° @
: = £107 8
: =
. =3
Looieond °
1072
10°°
o v o o 1 o
K : 3 s 3
o4 . . 14 o4 14
R o R 05
0.95 I 1 ] Lt Lt A 1 1 Lot Lt Lt Lt 1
-0.8-06-04-02 0 0.2 0.4 0.6 0.8 .8-0.6-0.4-02 0 0.2 04 0.6 0.8 —%.8 -0.6-04-02 0 0.2 04 0.6 0.8 —%.8 -06-04-02 0 0.2 04 0.6 08
track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm) track dxy(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (1ecoToSim) looper racks vs dz(PV) |
R g ° 2
[5} [} [=] [}
g s g g
g 3 B s
£ 8107 g
=
=1
k=]
107?
107
o “ e e 1
T 3 T
o o o
05
05 0 -20 -10 0 10 20 30 0 -20 -10 0 10 20 30 —C’SO -20 -10 0 10 20 30 —(‘30 -20 -10 0 10 20 30
track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm) track dz(PV) (cm)
N of associated (recoToSim) tracks vs dz(PV) | N of associated (recoToSim) looper racks vs dz(PV) |
2 L < ¢
Q Q [5] (=)
g g 8 8
[ [} Q
£ S107 g
=
=]
o
1072
107
o . o It )
3 3 s 3
14 . o 14
2 05 [ SRR T FEPE
0 1T 05 0 05 1

05
track dz(PV) (cm)

T 05 0 05 1
track dz(PV) (cm)

T 05 0 05 I
track dz(PV) (cm)

track dz(PV) (cm)



	Contents
	Page 1


